
Divisibility

Selected Answers



Common Factors and Multiples Word Problems
 1.  What  is  the  largest  size  of  square  tiles  that  can  be  used  to  cover  the  floor  of  a

rectangular room 2.56 by 1.44 m?

 2.  The tables in the school canteen are arranged in the same number of tables in each
row. If they can be arranged in 4 rows, 5 rows, or 6 rows, what is the least number of
tables in the canteen?

 3.  A mountain chalet has equal capacity rooms. It can accommodate 78 guest on 1 st floor,
54 on 2nd floor, 84 on 3rd floor and 48 on the top floor. What’s the maximum number
of beds in each room and what’s the number of rooms in the chalet?

 4.  A florist has 72 white roses and 96 red roses. How many bouquets can she make at
most,  provided  that  they  all  have  equal  number  of  red  roses  and  all  have  equal
number of white roses?

 5.  This table lists the numbers of teeth on a five-speed bicycle gears. Suppose one tooth
on each gear is marked. How many pedal gear revolutions will it take for the marked
teeth to click into each other again?

1st Gear 2nd Gear 3rd Gear 4th Gear 5th Gear

Pedal Gear 52 52 52 52 52

Axle Gear 28 24 20 17 14

 6.  You need to make shelves of these lengths: 60 cm, 75 cm, or 50 cm. What is the most
efficient length of wooden planks to use?

 7.  You have 842 rectangular 20 × 30 cm tiles. How many can be used to tile the largest
square possible unless they are cut?

 8.  Five tram lines run in these intervals: 5, 8, 10, 12 and 15 min. They all set off at noon.
When will they all meet again?

 9.  There are less than 100 apples in a basket. If they are counted by 3’s, there are two left
over; by 4’s, there are three left over and by 5’s, there are four left over. How many
apples are in the basket?

 10. There are less than 500 sheep in the shepherd’s flock. If he leads them by 2’s, 3’s, 4’s,
5’s or 6’s, one sheep always remains. If he leads them by 7’s, none is left alone. How
many sheep has he got?

 11. When members of a choir stand by 3’s, one remains. If they stand by 4’s, three are
left. How many members should join them, so that they can stand in 3 and 4 rows?

 12. A toddler built pyramids from cubes. When he was building 3-cube pyramids, 1 cube
was left. When building 5-cube pyramids, he had 6 pyramids less than before and 3
cubes left. What’s the number of cubes?

Selected Answers

 1. 16 cm
 2. LCM (4,5,6) = 60
 3. GCF (78,54,84,48) = 6; 44 rooms
 4. GCF (72,96) = 24

 5. No. of revolutions are 7, 6, 5, 17, 7
 6. 3 m
 7. 726
 8. at 2 p.m.

 9. 59 apples
 10. 301 sheep
 11. 5 members
 12. 43 cubes
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